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N & o & AF & H A A
017HE £ 3 8 YW ENFLD
=M EXNELD
Ha: OXNE EXNFSY
oel: EEHO ENYH =& (B9 ®R)
= HE -2 (FH) - MM - BES Oif &4 JEH Husz
EXNFLY 834,032 837,490 ~3,458
2 49,900 49,900 0
s 6,000 6,000 0
= 14,650 14,650 0
Al 763,482 766,940 ~3,458
ONE EXEEY 442,323 445,370 ~3,047
= 49,900 49,900 0
= 6,000 6,000 0
< 14,650 14,650 0
Al 371,773 374,820 £3,047
S8 EXHY F& 442,323 445,370 A 3,047
2 49,900 49,900 0
= 6,000 6,000 0
< 14,650 14,650 0
Al 371,773 374,820 ~3,047
fSatztel 8,598 9,420 A 822
201 L2yl 7,398 8,220 ~822
01 Ak 2tel 7,398 8,220 £822
(w2 Bt~ Z H| 6,978 7,800 A 822
T -822,0002 £822 0 £822
M7= 2 At 116,047 118,272 ~2,225
s 6,000 6,000 0
Al 110,047 112,272 ~2,225
201 L2yl 20,025 22,250 £2,225
01 At 2rel bl 20,025 22,250 ~2,225
CPEIER= 18,065 20,290 ~2,225
oFHT ~2,225,0002 ~2,225 0 ~2,225
NEEE 296,249 296,660 A4
Nelye 28 2 25 296,249 296,660 A411
T2 NEAEES HolE 2el 191,660 192,071 A411
201 L2yl 110,860 11,271 A411
01 AL 2tel bl 3,694 4,105 A4T1
CETIER=YT 2,714 3,125 A4
CEET LN ~411,0002 A411 0 A411




